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AP CALCULUS BC
Worksheet 4.2
Chain Rule

Differentiate the following. Do not simplify.
1. f(x)=sin xcot x

tan x
2. f(x)= Ty

3 (W):1+secw
' 1—secw

4. Kk(x)=sin (x? +2)

5. H(x)=cos® 3x

6. t(z)=sec(2z+1)

7. r(a)=csc(a® +4)

8. f(x)=cos(3x?)+cos?(3x)




9. K(z)=12%cot(52)

cos4x

10 Fi)= "

11.  f(x)=(tan 2x —sec 2x)’

12. s(@)=tan3/5-60

Find the equation of the line tangent to the curve at the point defined by the given value of t.

13. X =cost y=1+sint, t=%
T
14. Xx=sect, y =tant, t:E

15. x=2t*+3, y =t*, t=-1



